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1. oo s Yeq o/ we Taacd g s
1x8=8

Answer the following/Choose the correct
answer :

(a) @ Tage Ave fa |

Define rural development.
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(2)

(b) BT ooy oACAGATS] S FICA PAA

(c)

25/80

SRR SRS weq @Dl 43R TREed CTe
TGS ?

Absence of minimum income to get the
minimum needs of life is concerned with
which of the following types of poverty?

(i) = wikgel
Absolute poverty

(i) =i wiwel
Relative poverty

(i) (i) = (ii) TEAG!
Both (i) and (ii)

(iv) S°I{] (FICNCIRR T2

None of the above

IR cerEzd 3P AR SRS
fefowrme 2'e

The income elasticity of export goods of
agricultural countries is

(i T
high
(i) </
low
(iii) =S TH
very high
(iv) S¥RI (FICOLAR =

None of the above
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(3)

(d) SRR W@ @R OSSR S 2

IeAreTE 2H
Development with unlimited supplies
of labour hypothesis was originally
formulated by
() =T R
Gustav Ranis
(@) 2=
Lewis
(iii) (IR AR
Ragnar Nurkse
(iv) onefid Ge
Gunnar Myrdal

(e) TmER J2e-C3Pl TG W (e I (-

The basic logic behind the Big-Push
strategy of development is related to

() el e
internal economies

(ii) e Frearfe
external economies

(iii) (i) = (ii) T
Both (i) and (i1)

(iv) S°RI (IALLCIR 2T

None of the above
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(9)

(a)

(b)

(c)

(d)

(e)

P25/80

2. ool R @en wRkee Ry o G fon - 4x4=16

Write short notes on any four of the following:

(4)

A TR B g1 AL fRgca ToEy 4T
Mention one key problem related to rural
development.

ITTEY e ARG w8 62
What are the three pillars of sustainable
development?

(h) TREFREER Pro R @ RS ?

Who is known as the father of micro-
finance?

TS AR S ORI AR
Spread effect and backwash effect

TR Sraee wIfER CIFERTR

Features of Gandhian model of develop-
ment

RN SR

Disguised unemployment

SRR AN wRGeR FETIHR

Reasons of rural poverty in India

Human capital and rural development

T EEE S A1 TwaA
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Answer the following questions :

3. (a)
(b)
4. (a)
(b)

25/80

ARG~ eea RR-GreE =ity [ ae
STICSNE [ResEe SeR_CerRT | 11

Discuss critically the Harris-Todaro
model of rural-urban migration.

<1 / Or

J2R-(2P] ©GF G T4 | J2R-(RDT T
TRACT SR AT S RF TREed Fioet
5& ) Sferriz SR SR 2 4+7=11
Discuss the Big-Push theory. Can Big-
Push interventions help in lifting people

out of vicious circle of poverty in rural
India?

W T oS 29 F9 A THER Ao AP
FHET P RO 41 | 11
Make a comparative analysis of
approaches and strategies of rural

development adopted in China and
India.

<1 / Or

QfRI] CrPieRI A0 SageR [fesw A =
FeREPTNRS RIw < F40 6+5=11

Explain the various issues and
perspectives of rural development in
Asian countries.
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5. (aq)

(b)

6. (a)
(b)
P25/80

(6)

SRSI ROl e qREN [Afew A =i
IR R =g w94 | 6+5=11

Discuss the various features and

functions of Panchayati Raj system in
India.

§2<T / Or

SPIIRER SReieize (RO iR o i
A TS  ARqETe TP SRR
AT e S 4 | 5+6=11
Define the concept of people’s participa-

tion and state the need of people’s
participation in rural social change.

RV A T Ao 2 A SRS (wA©
T AT T =S e [T R @A eremg
SICR ? 4+7=11
What is sustainable rural development?
What are the key challenges in attaining

sustainable rural development in case of
rural India?

41/ Or

e iR Res ez Raca amm w0

UFE [WE R AR TR FA @GP
AT SRS CFGS AL 31 | 6+5=11

Explain the different types of unemploy-
ment and strategies followed for its
eradication in context to rural India.
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7. (@) R o T R frrzs e S
I | SRS JZTER AT SEEw Ared A JeAd
o TR AR [REc [ P9
6+6=12

Discuss the various dimensions of human
resource development. Explain the need
of human resource development for
attaining sustainable rural development
in India.

=T / Or

(b) Caawel ARwWe PRGN TR ffen
ofRepTRa RACT I 0| SRS 2R o
1 e e ¢ I @RI TA PRPTRS
ey e F90 6+6=12
Explain the various measures Of
inequality. Discuss the main causes of
increasing inequality between rural and
urban areas in India.
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